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4)% + (aso - 4)%)

= %{ (a3 +a3+a5+---+ajs +aje+ady)—8(ar1+az+as+

“’+a4g+(149+a50)+42><50}
_ 1400—8X§)((;0+16X50 — 120]t}.




48.

A% x, v, 2 o BT RA] 224, 2 A W 2, )2, 22 O] BRL)

®s

1

Al 4= x, y, z 8] B0l 40|ER
xX+y+z
3

X4 y4+z=12 ---... @)

B3, x, y, z 9 BAto] 20]BR

(x-49)*+(-4)7+(z-4)?
3

(x=4)2+(y-4)2+(z-4%*=6

x> —8x+16+y2 -8y +16+72-87+16=06

Pty +2-8(x+y+z)+48=6

19] Aol @<= HYstA

P 4+y?+22-8x124+48=6

S+ y? 422 = BATERA] &2, 32, 22 O B

W — 534218 o]u]-.

=4

=2




A x, yoll st »? +y? = 28 W55k (x, y) 7170 W, x4y
o] & szt

> E:

> e 12

. ~
x+y=keotHy=—-x+k
OJAE x% 4+ y% =2 o tdstH
2+ (-x+k)?2=2
2x2 —2%kx+k*-2=0

k2 -2

2

I (x, y)7F 17|22 D = 014

2 _
(5 -

kK2—2k*+4=0
k> =4
Ck=x+y=+2

X2 —kx + =0




0 S AETHBL Zgloly B ah  (m) \
04 O BRAE 2AG e 9
= Jolg Qxs} Aol A g
7ol 80 & uf, =4vh AH| shAde] 6 ,
125% < o, A7 Ao BAe ]
Fololat (g W@ BFE a5 3 Y/
_ . 2 —
A7 Aelo] A wregict) ’ L~

0

35 45 55 65 75 85 (kg)

[ 2
> Hehl 129

AF7FEe] 80 ¢l T4t 24 x % =3(9%)
AFEel 70 V EFE x FAL SHH 24 - (246 + 8+ 3) =
5 . x=5H
ojB=Z Had
40%x2+50%6460x8+470x5+80x3
24
80+ 300 + 480 + 350 + 240
B 24
o|B = A At oA HH-ZlSHA 60kg o]t
L R I
1

57 1 (40 = 60)° X2+ (50-60)2 x 6+ (60— 60)2 x 8+ (70~ 60)2 x

5+ (80 - 60)* x 3}

=604--- (kg)

= 5(800 + 600 + 0 + 500 + 1200) = 129.16- - - o|t},
whebA] 45 ARk o] A HheRshE 1290]¢t,




